
A triglyceride? - ANSAll choices are correct

Active transport - ANSAll choices are correct

Affect rate of enzyme catalyzed reaction - ANSAll
Choices are correct

All cells on earth? - ANSAll choices are correct

Alleles of a gene are found at __ chromosomes - ANSSame locus on homologous

Amino acids can be destinguished by - ANSThe chem props of their R grouo

An example of tissue is? - ANSThe heart muscle

Antibiotic kills 99% of bacteria. You would expect the next generation of bacteria? - 
ANSto be more resistant to that antibiotic

Any change in nucleotide sequence of DNA is called - ANSA mutation

Any gene located on a sex chromosome - ANSIs called sex liked gene

Anything that prevents ATP formation will most likely? - ANSResult in cell death

As ice melts - ANSHydrogen bonds are broken

As result of glycolysis, the is a net gain of __ ATP - ANS2

As scraped skin heals, the cells fill in Injured area but do not grow beyond that. This is 
example of - ANSDensity-dependent inhibition

Atomic number of an atom is? - ANSThe number of protons in the atom

Basic difference between exergonic and endergonic reactions? - ANSExergonic: 
release energy 
Endergonic: absorb energy

Benign tumor differs from malignant because benign - ANSDoes not metastasize

Both mitosis and meiosis are preceded by - ANSInterphase

By product of CR is - ANSCarbon dioxide and water

Carbon diversity because? - ANSAll of these are correct
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